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1. Find the least common 2. If you have three 5. Anita is making
multiple of the numbers pentagons, what is the total | bracelets. For each
below. number of sides? bracelet she needs 4 of a
foot of string. If she has 12
9 2 feet of string, how many
E bracelets can she make?
[
% 3. Convert to a mixed 4. The lifeguard blows a
s number. whistle every 45 minutes
starting at 8:30. What time
27 will he blow the 5! whistle?
6
1. Find the least common 2. If you have 4 triangles 5. Carl is making birdhouses
multiple of the numbers and 3 parallelograms, how for his backyard. He has 3
below. many angles are there yards of lumber. If each
‘| 6 4 total? birdhouse uses 2/3 of a
yard, how many
z birdhouses can Carl make?
[
(T
Lid | 3. Convert to an improper 4. Classes go to lunch every
= | fraction. six minutes beginning at
- 11:00. What fime will the 5
7 4 class go to lunche
6
1. Find the least common 2. If you have 6 hexagons, 5. Mr. Tanger is buying a
multiple of the numbers how many sides are there?¢ jacket at the store. The
below. coat costs $52, but Mr.
— 6 7 Tanger has a coupon for 72
T off. How much will he pay
[ for the jacket?
D
Lid
= 3. Convert to a mixed 4. A bus comes to the
I.Ic.l numbper. library every 22 minutes
3 starting at 8:00. What time
49 will the fourth bus arrive?
8
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1. Find the least common 2. If you have 5 frapezoids, 5. Reynold is baking
multiple of the numbers how many angles are cookies. He has 4 sticks of
below. there? butter. If he needs 4 of a
-l 2 8 stick of butter for every
S dozen cookies, how many
<C cookies can he make in
a alle
% 3. Convert to a mixed 4. The magic show begins
- numbper. every 50 minutes starting at
[ — 11:10. What time does the
32 5th show starte
1. Find the least common 2. If you have two 5. Trista is buying a pair of
multiple of the numbers pentagons and three boots and a purse. The
below. trapezoids, how many sides | boots cost $45 and the
3 5 inalle purse is $85. If she uses a
coupon for V4 off her
S purchase, how much will
g her total be?
E 3. Convert to an improper 4. The cashier takes a break
LL. | fraction. every 75 minutes starting at
6:30.What time will he take
5 1 his 39 break?
CORRECTION =l REFLECT: Why is it important to understand fractions in reall
life? Explain.
(=)
oL
D
o
- CORRECTION =2
) TEACHER NOTES:
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1. Reduce the fraction.

4

2. What is 2 hundred less than
the smallest number you can
make using all of the following
digitse

ON3HAT |4

5. A video game company
tested 20 video games. Six
out of every 20 games did not
work. If 80 are tested, how
many of them might not

3(x + 4)

- 6 work?e
g Might Not Work Total Games
% 3.Solve ify = 3. 4. A face is a flat side of a 6 20
s 3D shape. How many faces 40
2
4y + 6 do 4 cubes haves 18
1. Reduce the fraction. 2. What is 5 thousands less 5. Ms. Peters is buying sets
than the smallest number you of blocks. Four out of every
18 can make using all of the 50 blocks are red. If she
following digits? buys 275 blocks, how many
AN7H1H8I3 will be red? Use a table fo
z 20 solve.
[
Lid | 3.Solveifx=7 4. A face is a flat side of a
E 3D shape. How many faces

do 6 square pyramids
have?

WEDNESDAY

1. Reduce the fraction.

32

60

2. What is 3 tens more than
the greatest number you can
make using all of the following
digifs?

21T 1411711

3.Solveifb=12

150 - 17

4. A face is a flat side of a
3D shape. How many faces
do 10 spheres have?

5. Cindy is making
lemonade. For every 2
lemons she squeezes, she
needs 3 cups of water. If
Cindy uses 13 lemons, how
many cups of water will she
need?
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1. Reduce the fraction. 2. What is 2 hundred more 5. James planted tomatoes
than the greatest number you | in his garden. Seven out of
36 can make using all of the every 12 plants were cherry
following digitse tomatoes If he planted 48
o — fomato plants, how many
=T 72 OH3Il41]1 6 would be cherry tomatoes?e
[
w Cherry Tomato Total Tomato
% 3.Solveifc =2 4. A face is a flat side of a
- 3D shape. How many faces
[ — 22C + ] 4 do 3 cylinders have?
3
1. Reduce the fraction. 2. What is 3 ten thousands 5. Olivia was picking
less than the largest number | strawberries. She noticed
9 you can make using all of that for every 8 she picked,
—_— the following digitse 3 were sfill green. If she
picked 24 strawberries,
S 54 afl | A | N | K2A | S how many were green?
g Make a table to solve.
E 3.Solve ifx =10 4. A face is a flat side of a
Ll 3D shape. How many faces
] OO = X do 5 rectangular prisms
have?
CORRECTION =l REFLECT: When could a table be helpful in solving a
problem?¢ Explain.
(=)
oL
D
o
- CORRECTION =2
) TEACHER NOTES:
TN |
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Lid
L
GRADE:
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1. Write the number 2 2. Write the expression in 5. Kyle makes $2,345 a
hundred thousands greater | words. month. If he pays $768 for
than 2,136,280. rent, $253 for his utilities,

3X -2 and spends $250 on
groceries and gas for his
E car, how much does he
oS have left each month?
% 3.1fx=3, compare using <, | 4. How much is it worth?
$— | o= Twice as much as
5 dimes and 3 pennies
8X 6x + 15
1. Write the number 2 2. Write the expression in 5. Myron earns $2,564 each
hundreds less than words. month. After he pays his
2,136,280. X - ‘| 2 bills he has $564 left over.
His car payment is $323, his
groceries cost $350 a
z month, and the rest goes
) to rent and utilities. How
D much does Myron spend
I-I=J 3.1f x =3, compare using <, | 4. How much is it worth¢ on rent and utilities?
>, or =,
— One-forth as much as
8 quarters
2X + 4 16 +x
1. Write the number 2 2. Write the expression in 5. Coral buys a pair of
millions greater than words. shoes for $100. She also
2,136,280. buys a hat that costs a
— S5x + 24 quarter of the cost of her
< shoes. If she has a budget
[ of $135 for clothes, how
& much money does she
have left over?
E 3.1fx =3, compare using <, | 4. How much is it worth?
>, or =, .
; © Two-thirds as much as
4 dimes and 4 nickels
12x - 24 4x

2
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1. Write the number 2 tens 2. Write the expression in 5. Tyleek saving for a new
less than 2,136,280. words. Xbox. He earns $705 a
month at his job. His phone
2 (X + ]5) costs $99 a month and his
z car payment is $263 every
two weeks. If he saves the
f— rest, how lon il
, g willit take
‘&, him to save the $325 for his
- 3.If x =3, compare using <, 4. How much is it worth?e purchase?
>, or =,
|=_= One-fifth the value of
8 dimes, 2 nickels, and 1(Q
+ - .
5x + 10 56 - X bennies
1. Write the number 2 2. Write the expression in 5. Michelle earns $534
thousands less than words. each week in her job. Each
2,136,280. month she pays $978 in
12(3 - x)
rent, $235 for her car and
gas, and $123 on utilities.
E How much money will she
have left after her bills are
(=] : — paide
E 3.If x =3, compare using <, 4. How much is it worthe
bl (. 0= Triple the value of
3 dimes and 2 quarters
10x - 20 14 - x
CORRECTION =l REFLECT: Which of the problems was most challenging this
week?e Why?
()
oL
D
o
o
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1. Write the decimals in 2. Write the number below 5. Mr. Hernandez had half
order from least to greatest. | as a numeral. of a pizza left over after his
o family ate dinner. The next
Two million, four hundred ) )
42 44 51 4.6 fhousand, three hundred one| 9@y his son, Micah, ate 4
of the leftovers. How much
izza did Micah eat?
<>- pizza
[
% 3. Marco made 124 free 4. Use aruler to measure and
Z throws this season. Ryan made | find the perimeter to the
132. If each free throw is worth | nearestinch.
2 points, how many points did
the boys score together?
1. Write the decimals in 2. Write the number below 5. Jaden spent $20 at Wal-
order from greatest to least. | as a numeral. Mart. Four-fifths of that was
spent on a cake for his
3.7 2.8 21 25 1,000,000 + 500,000 + 60,000 + [ mother’s birthday. How
1,000 + 30 much did the cake cost?
-
<C
[
D
LiJd | 3. At the pie eating contest, 4. Use aruler to measure and
= | Leslie took 165 bites of pie. find the perimeter to the
— Rebecca ate 99 bites. If each nearestinch.
pie took 33 bites to eat, how
many pies did the girls eat in
all?
1. Write the decimals in 2. Write the number below 5. Antonia needs 1 V4 cups
order from least to greatest. | as a numeral. flour for a batch of
Seventy-five million, two brownies. If she wants to
0.7 0.02 0.8 0.06 '
- hundred twelve thousand, | Make 8 batches of
<C ninety brownies, how many cups
[ of flour will she need?
(J¢)
Lid
= 3. Mae has 8 nickels. Valerie 4. Use a ruler to measure
=|| has 6 dimes. If the girls plan to and find the perimeter to
share the money equally, how | the nearest inch.
3 much does each have to
spend?
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1. Write the decimals in 2. Write the number below 5. Fabrice and Margot
order from greatest to least. | as a numeral. went to pick strawberries.
Fabrice picked 6/8 of a
2.1 201 1.02 1.1 8,000,000 + 500,000 + pound of berries. Margot
o 5,000 + 400 + 5 picked half as much. How
<C many pounds of
a strawberries did Margot
oL pick?
- 3. An office got 435 phone calls | 4. Use a ruler to measure and
- in May and 279 callsin June. If find the perimeter to the
[— the 2 office workers took an nearestinch.
equal share of calls, how many
calls did each take during that
fime?
1. Write the decimals in 2. Write the number below 5. Tracy went to the store
order from greatest to least. | as a numeral. to buy half a pound of
Nine hundred two million, one | candy. If /s of the candy
401 4.1 404 44 hundred three thousand, | She bought was gummy
twenty-nine bears, how many pounds
S of gummy bears did she
g buy?
E 3. Lance earned $546 in April 4. Use aruler to measure
LA. | and $354in June.If he plans and find the perimeter to
to save half of his money, how | the nearest inch.
much will he have saved
across these two months?
CORRECTION =l REFLECT: Which question was easiest this week? Why do
you think it was so simple for you?
()
oL
D
o
- CORRECTION =2 :
) TEACHER NOTES:
TN |
p—
[ W -
Lid
L
GRADE:
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1. Yellowstone Park is about | 2. What geometric figure is 5. A store is giving
2,219,823 acres. Write this shown? customers door prizes. The
number in expanded form. first customer gets a
[ — coupon for $3 off. The
—e second customer gets a
E coupon for $4 dollars off,
= the third gets a $7 coupon,
Z 3. Lisa drew happy facesin 4. The art teacherlined up 5 and the 4™ getfs a $12
O | art. She put them into 4 equal | paintbrushes shown below. coupon. If the pattern
2 | rows.If this is one row, how Use a ruler to determine the confinues, what discount
many eyes did she make? total length of her brushes to will the sixth customer gete
the nearest inch.
QOO | .
_ .
1. The state of California is 2. What geometric figure is 5. Lorissa is organizing her
about 158,693 square miles. | showne blocks. She puts 28 blocks
Write this number in word — in the first box, 31 in the
form. —> second box, and 34 in the
third box, and 37 in the
E fourth box. If this pattern
[ continues, how many will
& 3. Martha was making 4. Mr. Lopart lined up three she putinto the fifth box?
-_ sandwiches. If she spreads 2 screws like the ones shown
— tablespoons of peanut butter below. Use a ruler to find the
on each slice of bread, how total length to the nearest
much peanut butteris used to | quarterinch.
make 4 sandwiches? 0
1. The planet Jupiter is 2. What is the vocabulary 5. Trail mix comes in a
142,984 kilometers in word for the relationship variety of sizes. The snack
diameter. Write this number | between the lines shown size contains 4 ounces. The
> in expanded form. below? next sizes contain 12 oz., 36
g G — oz,T?nd 108 ;)Z. If ’rhke]
pattern continues, how
(Je) - —> many ounces are in the
— next size of frail mix?
= 3. Jordan baked 5 pans of 4. Kyle drew a line four times
u=.| cookies. He put the cookies as long as the one shown
into two equal rows on the below. Use a ruler to help you
3 pan. If each row has 6, how determine the length of Kyle's
many cookies did Jordan line to the nearest half inch.
bake?
® ®
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1. A 5-carat diamond ring 2. What geometric figure is 5. Francis is cutting flowers
costs $256,304. Write this shown? from her garden to give to
number in word form. her mom. She cut one tulip
from the first row, 2 from the
o second, 4 from the third, 8
< from the fourth, and 16 from
[ the fifth row. If the pattern
(Jp) continues, how many tulips
% 3. Jonathan organized his 4. Kyran has 12 crayons like the will she cutfrom the sixth row?
- math tiles into 6 rows. If one one below. If he lines them all
— (e is shown below, how up, how long will the line of
many sides are on all his tiles? crayons be to the nearest
quarterinch?
® ®
1. The Pacific Ocean covers | 2. What geometric figure is 5. Tyler got a new video
68,634,000 square miles. shown? game for his birthday. His
Write this number in word mom let him play for 2
form. / minutes on Sunday, 6 on
Monday, 18 on Tuesday, and
I 54 on Wednesday. If the
E pattern continues, how many
o) minutes will his mom let him
EI 3. Melanie drew 3 rows of 4. Tracy drew a line four times play on Thursday?
LL. | heartsand colored every as long as the one below.
other heart. One row is shown. | Measure the line to the
How many hearts did Melanie nearest quarterinch to
colorin all? determine how long Tracy's
VIVAVIVIVIVEE Rt
o
CORRECTION =l REFLECT: What strategy did you use to answer the
questions in box 52 Why was this useful?
(=)
(a4
D
o
- CORRECTION 2 :
() TEACHER NOTES:
LAl
pr— |
el
Lid
L
GRADE:
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1. Compare using <, >, or =. | 2. What three dimensional 5. Marshall was counting his
figure can be made from money. He put 2 dimes in the
Number Number of | this net?e — first pile, 4 dimes [n the
facesona second, 8 dimes in the third,
of faces
on a cube rectangular R B and 16 in the fourth. If the
S prism L pattern continues, how much
< money will he have in all if he
= makes 5 total piles?
OZ 3. What is the perimeter of 4. What numbers are
this shape?¢ missing¢
>
5 ini t 34 40 46 58
5in.
5in.
1. Compare using <, >, or =. | 2. What three dimensional 5. Felix was sorting gummy
figure can be made from bears into baggies for snacks.
Number this nete He put 63 in the first bag., 72
Numper of faces in the second, 81 in the third,
of vertices ona and 90 in the fourth. If the
S | ONnacube square pattern confinues, how many
<C pyramid gummy bears did he use if he
a made five piles in all2
Lid | 3. What is the perimeter of 4. What numbers are
= | this shape? missinge
—
5cm
99 105 108
§
™
7cm
1. Compare using <, >, or =. | 2. What three dimensional 5. The bakery sold 15
Number of Nomber of figure can be made from cupcakes on Monday, 17 on
edges umber of | this nete Tuesday, 19 on Wednesday,
ona vertices on O 21 on Thursday, and 23 on
<: rectangular < squorg Friday. If the patten
; pyrami continues, how many
) prism ’
(7 ) O cupcakes did they sell from
Ll Monday to Saturday?
= 3. What is the perimeter of 4. What numbers are
£ this square? missinge
LA
= 145 115 100
8in
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1. Compare using <, >, or =. | 2. What three dimensional 5. The theater has 5 chairs in
figure can be made from the front row, 6 in the second
Numiber Number of | this net? row, eight in the third row,
of faces vertices and eleven in the fourth row.
S ona on a cube If the pattern continues, how
< sphere many chairs are in the first five
[ rowse
(Je
% 3. What is the perimeter of 4. What numbers are
=r= | this shape? missinge
| 12cm
_ 144 120 96 72 ___
4
cm
1. Compare using <, >, or =. | 2. What three dimensional 5. Martin's Hardware sold 8
P g
Number flaure can be made from chainsaws in.Jonuory, 121in
Number fed February, 16 in March, and 20
of vertices oredges i i i
on a in April. If this pattern
Okr]‘ a square continues, how many
» sphere pyramid chainsaws will they sell
< between January and May?¢
[
MII 3. What is the perimeter of 4. What numbers are
LL. | thisshape if all the sides are | missing?
2
the same® . 9264 56 36
&
CORRECTION =l REFLECT: Why is vocabulary important to help you solve
the problems in box 12
(=)
oL
D
o
- CORRECTION =2
) TEACHER NOTES:
TN |
p—
[ W -
Lid
L
GRADE:
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1. What is the volume of a 2. There are 24 birds on 5. The city bus had 28
rectangular prism with the Harsha's tfree. One-third of seats. There were 3
following measurements? them are robins. How many | passengers sitting on each
) are not robins? seat. At the first bus stop 12
Bo§e area 32 cm passengers got off the bus.
z Height 6 cm How many passengers
oS were left on the bus?
% 3. On Tuesday the high 4. Estimate the sum to the
s temperature was 76 degrees nearest ten.
and the low was 45 degrees.
How much did the 9,148 6,695
temperature change that
day?
1. What is the volume of a 2. Emma had 16 balloons. 5. Lauren had 4 friends
rectangular prism with the One-fourth of them blew over for a slumber party.
following measurements? away. How many does she Her mom gave her $100 to
- still have? spend on supplies. She
— E:?Sh?r]egirfé n- spent $26 on pizza, $8 on
=T ' drinks and $38 on paper
P goods and decorations.
How much money did she
g,J 3. A pot of water was 88 4. Find the approximate have lefte Y
— degrees Fahrenheit. If | difference to the nearest
= | wantit to boil, how many hundred.
degrees hotter does it need
fo get? 8,268 8,875
1. What is the volume of a 2. In the basketball game, 5. Jace had 38 paper
rectangular prism with the Scott attempted 14 free airplanes at home.
following measurements? throws. He made half of Christopher gave him 14
» them. How many did he more paper airplanes to
E EI(;?Sh?rg?nm m make? iloy with at horr]r.]e.zT;wen
meera gave him
& paper airplanes. About
how many paper airplanes
= 3. Today’s high is 47 4. Estimate the sum to the does chg Eofe novf?
a degrees Fahrenheit. The nearest thousand.
3 weatherman says it will hit
freezing tonight. How much 5,489 6,752
will the temperature drop?
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1. What is the volume of a 2. Joe had 32 sandwiches 5. Aniis planning a party.
rectangular prism with the for a party. The guests ate He is inviting 7 of his friends.
following measurements? o of them. How many are Ani knows that each friend
lefte will drink 4 sodas., but Ani
S Base area 36 cm? does not drink soda. If
<C Height 6 cm sodas come in packages
a of 6, how many é-packs will
P : he need to buy for the
- 3. This afternoonitis 25 degrees | 4. Approximate the sum to party?
- Celsius. The temperature is the nearest ten.
[— expected to drop by 2 degrees
an hour for the next 7 hours.
What temperature will it be at ] ,248 785
that point?
1. What is the volume of a 2. Martin had $50. He spent | 5. Kate counted 12 cherry
rectangular prism with the three-fifths of his money at Jolly Ranchers, 8 lime Jolly
following measurements? the book store. How much Ranchers, and 16 apple
_ money does he have left? Jolly Ranchers in a candy
Boge ared 42 in.?2 bowl. If she wants to share
— Height 10 in. the Jolly Ranchers equally
<C between her and her 5
El : : friends, how many should
o> 3. The temperature at 7 4. Estimate the difference to | each person receive?
LL. | o'clock this morning was 42 the nearest thousand.
degrees. It rose three degrees
an hour until 10:00. What was 5,288 2,003
the temperature at 10:002
CORRECTION =l REFLECT: What area of math have you grown the most so
far yeare How do you know?2
(=)
(a4
D
o
- CORRECTION 2 :
) TEACHER NOTES:
TN |
pr— |
[ W -
LiJ
L
GRADE:
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1. Convert the units.

mL = 2L

2. Kyle draws a model of his
room to get measurements for
new carpet. Using the diagram
below, how much carpet will he
need?

5. A bakery was making
cinnamon rolls. They
divided 1/5 a pound of
cinnamon into 2 batches
of rolls. How much

8.2

z % cinnamon went into each
P 11 feet] @ batche
% 3. What is the volume in 4. Write the numeral in word
s cubic unitse form.
/.54
w
1. Convert the units. 2. Melissa wants to put a fence 5. Joseph made five
around her vegetable garden to sandwiches using 2 a jar of
. keep the deer out. How much
144 in. = yOrdS fencing will she need if the area peO?UrTbUﬁer'ﬂ:le was
of her garden is 10 square feet? carefullo use The same .
amount of peanut butter in
<> 2feet each sandwich. How
) much peanut butter did he
(I ) use in each sandwich?
Lid | 3. What is the volume in 4. Write the number in word
=| cubic unitse form.

WEDNESDAY

1. Convert the units.

Cups = 2 quarts

2. Frank is painting a canvas. If
the canvasis 12 inches by 20
inches, how much space does
he have to paint?2

3. What is the volume in

cubic unitse E

4. Write the number in
expanded form.

22.05

5. A restaurant had 1/3 of
a gallon of pasta sauce
left. They divided it equally
among three pans of
pasta. How much sauce
went on each pan?
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1. Convert the units. 2. Erik's dog house has an 5. The pet store had 2
area of 15 square feet. Whatis | puppies to feed using 1/3
300 grams = kg the perimeter of the house? of a bag of puppy chow. If
each puppy needs an
S o equal amount, how much
g o food should they receive?
(J¢)
% 3. What is the volume in 4. Write the numeral in word
- cubic unitse form.
- 4.05
1. Convert the units. 2. Mr. Anderson was building a 5. A coffee shop has 2 a
fence. If the area of his yard is container of whipped
— . 63 square yards, how much cream to divide equally
_— feet 180 In. fencing does he need? among 5 cups of cocoa.
2 yards How much whipped
S cream should each drink
g gete
E 3. What is the volume in 4. Write the number in
LL. | cubic unitse expanded form.
10.67
CORRECTION =l REFLECT: Which question was easiest this week? Why do
you think it was so simple for you?2
()
oL
D
o
- CORRECTION 2
) TEACHER NOTES:
TN |
p—
[ W -
Lid
L
GRADE:
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1. Sandwiches cost $5.02. 2. Compare the numbers 5. Mr. Torres split 2/5 of a
Jordan buys 5 sandwiches. using <, >, or =. gallon of lemonade evenly
What is the cost? between two water
3 1 | boftles. How much
x4 2 X = | lemonade is in each
E 5 3 | bottle?
[
= ; ;
o 3.Circle the product. 4. What is the area?
>
485x.10=48.5 | s
4km
1. A candy bar costs $0.78. 2. Compare the numbers 5. A bakery uses 3/8 of a
How much do 9 candy bars | using <, >, or =, pound of raisins in each
coste batch of cinnamon bread.
4 5 | Yesterday the bakery used
E XS 3 X g 3/4 of a pound of raisins.
z How many batches of
) raisin bread did they
D make?
Lid | 3. Circle the addends. 4. What is the area?
=)
[—
10.04 + 10.1 = 20.14
9.251in,
11in.
1. A pack of crayons cost 2. Compare the numbers 5. A recipe calls for 2/3 cup
$2.98. How much are 6 using <, >, or =. of flour. If you only have a
packs of crayons? 1/6 of a cup measuring
> E X 4 4 x 1 cup available, how many
< 3 3 | scoops will you need to
=2 make the recipe?
(J¢)
Ll
E 3. Circle the quotient. 4. What is the area?
(.
= 1 7
8 = — = 40 mm
5 ? mm
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1. A bakery sells cupcakes
for $4.68 per dozen. If they
sold 7 dozen today, how

2. Compare the numbers
using <, >, or =.

5. After dinner, there was
half a cherry pie left. Mom
gave each of our three

much money did they 1 4 5 1 guests an equal amount of
= [ Mmake? g X X 5 pie to take home. How
<C much did each person
a receive?¢
% 3. Circle the factors. 4. What is the area?
—
£
/.2x8=056.7 g
13cm
1. Mr. Anderson bought 7 2. Compare the numbers 5. Kiera's lemonade stand
folders for $.68 each. How using <, >, or =. uses 6 bags of lemons
much did he spend? each day on the weekend.
1 1 | If she has 2/3 of a bag of
g X 6 4 x E lemons, how long will it
S laste
-
[ o
E 3. Circle the difference. 4. What is the area?
bl
/7.54-11.2=66.34
12 miles
15 miles
CORRECTION =l REFLECT: What strategy did you use to answer the
questions in box 42 Why was this useful?
(=)
(a4
D
o
o
) CORRECTION =2 TEACHER NOTES:
Ll
p—
-
Lid
(o "4
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